<

43

A.u.S. SPIELGERATE GMBH

SCHEYDGASSE 48, AT 1210 WIEN
Q. +43 (0) 1271 66 00 65 FAX +43 (0) 1271 66 0075
Bwww.aus.at []verkauf@aus.at

M 8 - Screws connect

Stand + Base

[~

- Assembly of parts:

|

—

[

|

NN

NOOBDWN -~

. Nut M20

. Big-Pad 20mm

. Pad 20mm

. Main Wheel

. Screw M20/M10

. Mettal Wheel

. Pad 10mm and Nut M10


weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß


